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Tekst 5 
 

1p 7 What is the point made about Ms. Hwang in paragraph 1? 
A She finds reading and writing very difficult to learn. 
B She has recently become the driver of the school bus. 
C She is attending primary school at an advanced age. 
D She starts to cry every time she needs to go to school. 
 

2p 8 ‘the local school was running out of school-age children’ (alinea 2) 
 Welke twee verschillende oorzaken hiervoor worden in alinea 2 

genoemd? 
Geef antwoord in het Nederlands. 
 

1p 9 ‘Ms. Hwang and seven other women, aged 56 to 80, stepped forward’ 
(alinea 3) 
 In welke alinea verderop in de tekst wordt duidelijk waarom vooral 

vrouwen gebruik wilden maken van het aanbod van de school? 
Noteer het nummer van deze alinea. 
 

1p 10 What is the function of paragraph 4? 
A to contradict the idea that it is impossible to attract young people to 

villages 
B to explain why young people prefer settling in a village over living in a big 

city 
C to question if it is wise to go back to the village you grew up in once you 

have left 
D to stress how important the presence of a village school is for the 

community 
 

1p 11 Kies bij    11    in alinea 5 de juiste zin uit de gegeven mogelijkheden. 
A As a result everyone looked at her. 
B Because she had never felt so ashamed. 
C But these were tears of joy. 
D So it was a tough decision. 
 

1p 12 What is one of the points made in paragraph 6? 
If you are illiterate 
A it is quite dangerous to travel abroad unaccompanied. 
B relatives will probably want you to hide this deficiency. 
C seemingly simple tasks can become quite complicated. 
 

1p 13 What can be concluded about Ms. Hwang from paragraph 7? 
A She dislikes showing off her newly acquired skills in public. 
B She has become more confident by going to school. 
C She is a fast learner who can skip some classes. 
D She needs the extra education to start a political career. 
 


